

RELAZIONE A2

Titolo nota

29/01/2009

$$\frac{a_1}{1-a_1} \cdot \dots \cdot \frac{a_m}{1-a_m} \leq \frac{1}{n^{m+1}} \cdot \frac{1-a_1-\dots-a_m}{a_1+a_2+\dots+a_m}$$

$$\sum_{i=1}^m a_i < 1$$

$$a_{m+1} = 1 - \sum_{i=1}^m a_i$$

$$\sum_{i=1}^{m+1} a_i = 1$$

$$\prod \frac{a_i}{1-a_i} \leq \frac{1}{n^{m+1}}$$

AM-GM

$$\prod \frac{a_i}{\sum_{j \neq i} a_j} \leq \prod_{i=1}^{m+1} \frac{a_i}{\sqrt[n]{\prod_{j \neq i} a_j}} = \frac{1}{n^{m+1}}$$

$$a_i > \frac{1}{n+1} \quad a_j < \frac{1}{n+1}$$

$$a_i < \frac{1}{n+1} \quad a_j < a_i + a_j - \frac{1}{n+1}$$

$$\frac{a_i}{1-a_i} \cdot \frac{a_j}{1-a_j} < \frac{\frac{1}{n+1}}{\frac{n}{n+1}} \cdot \frac{a_i+a_j-\frac{1}{n+1}}{\frac{n+2}{n+1}-a_j-a_i}$$

$$(a_i+a_j-1) \left(a_i - \frac{1}{n+1}\right) \left(a_j - \frac{1}{n+1}\right) > 0$$

$$\sum_{i=1}^{m+1} \log \frac{a_i}{1-a_i} \leq \log \frac{1}{m^{m+1}}$$

$$f(x) = \log \frac{x}{1-x} \quad \text{concave in } \left[0; \frac{1}{2}\right]$$

$$a_i < \frac{1}{2}$$

$$\sum f(a_i) \leq (m+1) f\left(\frac{\sum a_i}{m+1}\right) = \frac{1}{m^{m+1}}$$

wlog $a_1 > \frac{1}{2}$ $s = \sum_{i=2}^{m+1} a_i$

$$f(a_1) + \sum_{i=2}^{m+1} f(a_i) \leq f(a_1) + m f\left(\frac{s}{m}\right) \leq \log \frac{1}{m^{m+1}}$$

$$\frac{s^{m-1} (1-s)}{(m-s)^m} \leq \frac{1}{m^{m+1}} \quad s \leq \frac{1}{2}$$

$$s(1-s) \leq \frac{1}{4}$$

$$1+s \leq \frac{1}{4} \frac{s^{m-2}}{(m-s)^m} \leq \frac{1}{4} \frac{\frac{1}{2}^{m-2}}{\left(m - \frac{1}{2}\right)^m} \stackrel{!}{=} \frac{1}{(2m-1)^m} \leq \frac{1}{m^{m+1}}$$

$$(2m-1)^m \geq m^{m+1} \quad (=\Rightarrow) \quad \left(\frac{2m-1}{m}\right)^m \geq m$$

$$\left(1 + \frac{m-1}{m}\right)^m \geq 1 + \frac{(m-1)m}{m} \quad \text{BERNOULLI}$$